3 5K 3 53N

LONMR RXD 1D OX 787 X 0P 0°R27 m>1axT oxa .1
(®)

sin(zy)

1m
(z,y)—(0,0) x

()

lim _ ryE
(2,y,2)—(0,0,0) T4 + y4 + 24

(&)
Vai+yr+1-1
1m
(x,y)—(0,0) 2?2 4 y?
Q)

. Ty
lim ———
(2,9)=(0,0) \/22 + 3y2
?(0,0) TP 72X 777N AR PRPIDIY I @ € R 0¥ ORI .2
-2 wy#0

flay) = { g R

?(0,0) 7TPI2 MD’ZT MRAT NPT ORI .3
(®)

fa9) - { e )£ 0.0

()

f(x,y){ (a4l +47) () # 0.0

TII0 7X12p D5 Dw Mpni OX P OR 72°%7 f 03 MO Lf : R™ — R™ 70 4
(M0 O3 f~1(B) X M0 XY B O ,M10D) L0 7P RO

SRR R RN || ]2 : R™ — R NPv7T7I000 n"r’bpmn fytaphhiyiinliy i) iy 1



bW ommT NP3 ORT DMK KRN 19 DX ?0°1°°p O°Ra m>1x7 Ox7 .6
QMR KX1 ,]0 DR 70°0°%p R nrxpna

(X)
. r—y
lim
(,9)=(0,0) T+ Y
()
lim (z+ )(sin(l) sin(l))
(z,y)—(0,0) 4 x Yy
2
li —_
()5(0.0) 72 + 42
(6))

x + sin(y)
im ——
(x,y)—(0,0) T+Y



